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Question Number : 1 Question Id : 70819119204 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f e is the electronic charge, c is the speed of light in free space and h is Planck’s constant, the

e -
quantity ——— —— has dimensions of :
© o dmeg hic

Options:
f (
70819162761, ML T

/ 1
70819162762. Ll

a7 0 )
70819162763, M’ LY T]
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70819162764, 1L € ]

Question Number : 1 Question Id : 70819119204 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
70819162761, IM LTI

/ 1
70819162762. Lo

a7 070
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1
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Question Number : 2 Question Id : 70819119205 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A stone is dropped from the top of a building. When it crosses a point 5 m below the top,
another stone starts to fall from a point 25 m below the top. Both stones reach the bottom of
building simultaneously. The height of the building is :

Options :

70819162765, > m

70819162766, 25 m

70819162767, 50 M

70819162768, 20 m

Question Number : 2 Question Id : 70819119205 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819162765, > m

70819162766, 25 m

70819162767, >° M

70819162768, 20 m

Question Number : 3 Question Id : 70819119206 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Asﬂmmofmdmsh%mdnmﬁ&ﬁrdhakmgahmﬁmﬁﬂphnowﬂhamﬂmuspmdqrh
encounters an inclined plane at angle 6 and climbs upward. Assuming that it rolls without
slipping, how far up the sphere will travel ?
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Options:

70819162769, 28 Sind
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70819162770, 8 Sin

IUUS
70819162771, ‘8 smb
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Question Number : 3 Question Id : 70819119206 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819162769, 28 Sind

70819162770, °8 Sin
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Question Number : 4 Question Id : 70819119207 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The point A moves with a uniform speed along the circumference of a circle of radius 0.36 m
and covers 30° in0.1s. The perpendicular projection’P’ from A’ on the diameter MN represents

the simple harmonic motion of ‘P, The restoration force per unit mass when P touches M
will be :

Options :
70819162773, 100 N

70819162774, 287 N

70819162775. 20 N

70819162776, 049 N

Question Number : 4 Question Id : 70819119207 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819162773, 100 N



70819162774, 287 N

70819162775. 20 N

70819162776, 049 N

Question Number : 5 Question Id : 70819119208 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Thermodynamic process is shown below on a P-V diagram for one mole of an ideal gas. If
V,=2V, then the ratio of temperature T,/T, is :

Pt 1(Py, V1, Ty)
1
PV§=cmmmnt

2(Py, Vo, Ty)

L 4

Options :

70819162777.

70819162778. V2

B3| =

70819162779.

-2

70819162780.



Question Number : 5 Question Id : 70819119208 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

70819162777.

70819162778. V2

k2| =

70819162779.

I3

70819162780.

Question Number : 6 Question Id : 70819119209 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  In a diatomic molecule, the rotational energy at a given temperature obeys
Maxwell's distribution.

Statement 11 :  In a diatomic molecule, the rotational energy at a given temperature equals
the translational kinetic energy for each molecule.

[n the light of the above statements, choose the correct answer from the options given below :

Options :



70819162781. Both Statement I and Statement Il are true.

70819162782. Both Statement I and Statement 1l are false.

70819162783, Statement 1 is true but Statement 11 is false.

70819162784. Statement | is false but Statement 1l is true.

Question Number : 6 Question Id : 70819119209 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 70819119210 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Two identical springs of spring constant ‘2k” are attached to a block of mass m and to fixed
support (see figure). When the mass is displaced from equilibrium position on either side, it
executes simple harmonic motion. The time period of oscillations of this system is :
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Question Number : 7 Question Id : 70819119210 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: 70819119211 Question Type : MCQ Option Shuffling : Yes Is

Y=Asin(wt + dy) is the time-displacement equation of a SHM. At t=0 the displacement of

A
the partidr_- is Y= = and it is moving along negative r-direction. Then the initial phase

r

angle by will be :

Options :

w4

70819162789.

5w
70819162790. ©

NE

70819162791.

70819162792.

Question Number : 8 Question Id

: 70819119211 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

SHM® $0-%929030 A0eg0es Y= Asin(ol+dy) ST0, ®0 (=0 TY ¥l 9030

@, B0y WTIF x - L& MR0T BOATT mIORT MmTA, IR

A
==
2

<|:{]

Options:
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Question Number : 9 Question Id : 70819119212 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A d‘.arge ’q’ is placod at one corner of a cube as shown in t’igure. The flux of electrostatic field
—

E through the shaded area is :
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Options :
70819162793.
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70819162794, €0

70819162795.

70819162796.

Question Number : 9 Question Id : 70819119212 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819162793, B0

70819162794, 0
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Question Number : 10 Question Id : 70819119213 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An electron with kinetic energy Kl enters between parallel plates of a capacitor at an angle
‘o’ with the plates. It leaves the plates at angle *p" with kinetic energy K,. Then the ratio of
kinetic energies K 1 IC,z will be :
Options :

'cosﬁ

70819162797, 05«

cosp

70819162798, Sina

sin 2[3

CGSED:

70819162799.

cns‘z[ﬂ

CDSZE‘E

70819162800.

Question Number : 10 Question Id : 70819119213 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
.COSE:

70819162797, “O5«

cosp

70819162798, Sina

sin 2[3

COos5 o

70819162799.

cos‘zlﬂ

70819162800, "%

Question Number : 11 Question Id : 70819119214 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a ferromagnetic material, below the curie temperature, a domain is defined as :

Options :

70819162801, & macroscopic region with zero magnetization.

70819162802. d MAacCroscopic reglon with saturation Il'lagI'IDtLZ'ﬂ.tIDI'I.

70819162803 a macroscopic region with randmnlj,-' oriented magnetic dipnlc-s.

a macroscopic region with consecutive maenetic dipoles oriented in opposite direction.
70819162804. L 8 P PP

Question Number : 11 Question Id : 70819119214 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 70819119215 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An LCR circuit contains resistance of 110 ) and a supply of 220 V at 300 rad/s angular
frequency. If only capacitance is removed from the circuit, current lags behind the voltage by
45°. If on the other hand, only inductor is removed the current leads by 45° with the applied
voltage. The rms current flowing in the circuit will be :

Options :

70819162805, 1 A

70819162806, 1.5 A

70819162807, 2 A&

70819162808, = &

Question Number : 12 Question Id : 70819119215 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819162805, 1 A

70819162806. 1.9 A

70819162807, 2 A&

70819162808, = &

Question Number : 13 Question Id : 70819119216 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The stopping potential for electrons emitted from a photosensitive surface illuminated by
light of wavelength 491 nm is 0.710 V. When the incident wavelength is changed to a new
value, the stopping potential is 1.43 V. The new wavelength is :

Options :

70819162809, U9 nm

70819162810, 329 nm

¥l
70819162811, b2 nm

70819162812, 400 nm

Question Number : 13 Question Id : 70819119216 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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Options :

70819162809, 209 nm

70819162810, 329 nm

gl
70819162811, J02 nm

70819162812, 400 nm

Question Number : 14 Question Id : 70819119217 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the diffraction pattern obtained from the sunlight incident on a pinhole of diameter
0.1 pm. If the diameter of the pinhole is slightly increased, it will affect the diffraction pattern
such that :

Options :

70819162813. its s51Z¢ INCreases, and I.TIT.C‘I'[SIT.}" INcreases

70819162814. ils size increases, bul intensity decreases

70819162815, its size decreases, bul intensily increases

70819162816 its size decreases, and intensity decreases

Question Number : 14 Question Id : 70819119217 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

0.1 pm $ROILT wom AR JoFm Red ALCDFT WFED, TTRIARTARA DIIFT
TR QOIRMIT 20 TONr, BR% JogR MABW, FUMEN 20 IRBRET, ¥ H
Dedong FSFE Fded Shed T Reley :

Options :

sy g g e g e
70819162813, STC Mg TFMOT 0B IeIZ TeFprgy.

f et e T e !t g iy e, e, g el
70819162814. ©00 Mg ui&%ﬁ.f‘_ﬂ:ﬁ 00 w2 e ..:i"'i..f_é:ﬁ.

U0 Mg 3RHAIRMST STT SeTF BwRHIT.

70819162815.

BT0 T FREIRMIESE o Semd IRHURMSE.
70819162816. i = 5 =

Question Number : 15 Question Id : 70819119218 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An electron of mass m, and a proton of mass mp =1836 m,, are moving with the same speed.

A
The ratio of their de Broglie wavelength M will be :
Mproton

Options:

70819162817, !

70819162818, 1836

1

70819162819, 1836

70819162820. 718



Question Number : 15 Question Id : 70819119218 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819162817.

70819162818, 1836

70819162819, 1836

70819162820. 718

Question Number : 16 Question Id : 70819119219 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The wavelength of the photnn emilted b}-‘ ahydrogen atom when an electron makes a transition
fromn=2ton=1 state is :

Options :

70819162821, 121.8 nm

70819162822, 194.8 nm

70819162823. 490.7 nm

70819162824, 9133 nm



Question Number : 16 Question Id : 70819119219 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

70819162821, 121.8 nm

70819162822, 1948 nm

70819162823, 907 nm

70819162824, 913.3 nm

Question Number : 17 Question Id : 70819119220 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If a message signal of frequencyf " is amplitude modulated with a carrier signal of frequency
‘f.” and radiated through an antenna, the wavelength of the corresponding signal in air is :

Options :
C

70819162825. fe = fm

C

70819162826, J¢ © fm

c

70819162827. e

70819162828.
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Question Number : 17 Question Id : 70819119220 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
C

70819162825. fe = fo

C

70819162826. fe * fm

L

70819162827.j;

C

70819162828.'ﬂ”

Question Number : 18 Question Id : 70819119221 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
For extrinsic semiconductors; when doping level is increased;
Options :

Fermi-level of p-type semiconductor will go upward and Fermi-level of n-type
70819162829 semiconductors will go downward.

Fermi-level of p-type semiconductors will go downward and Fermi-level of n-type

70819162830. semiconductor will go upward.



20819162831 Fermi-level of p and n-type semiconductors will not be affected.

Fermi-level of both p-type and n-ty pe semiconductors will go upward for T > T;. K and

downward for T < TF K, where TF is Fermi temperature.
70819162832.

Question Number : 18 Question Id : 70819119221 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 70819119222 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List I1.

List I List II
(a) Rectifier (i)  Used either for stepping up or stepping down the a.c. voltage
(b) Stabilizer (i) Used to convert a.c. voltage into d.c. voltage
(c) Transformer (i) Used to remove any ripple in the rectified output voltage
(d) Filter (iv) Used for constant output voltage even when the input voltage

or load current change
Choose the correct answer from the options given below :

Options :
70819162833, (@), (b)-(i), (o)-(iii), (d)-(iv)

70819162834, @)-(i), (b)-(iv), (c)-(i), (d)-(iii)
70819162835, (@)-(i1), (B)-(i), (¢)-(iv), (d)-(iii)

20819162836, (@) (il), (b)-(iv), (c)-(i), (d)-(ii)

Question Number : 19 Question Id : 70819119222 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
70819162833, @-@). (B)-(1), (c)-(iid), (d)-(v)

70819162834, (@)-(11), (b)-(iv), (¢)-(1), (d)-(iii)



70819162835, (@)-(ii), (b)~(i), (c)-(iv), (d)-(iii)

20819162836, @ (i), (b)-(iv), (c)-(1), (d)-(i1)

Question Number : 20 Question Id : 70819119223 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The truth table for the following logic circuit is :

Ae }
Y
B e }
Options :
A B ¥
0 0 0
0 1 1
1 0 1
1 1 0
70819162837.
A B Y
0 0 1
0 1 0
1 0 0
1 1 1
70819162838.

708191628309.



0 0 1

0 1 0

1 0 1

1 1 0
A B Y
0 0 0
0 1 1
1 0 0
1 1 1

70819162840.

Question Number : 20 Question Id : 70819119223 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
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0 0 0
0 1 1

70819162837.

70819162838.



0 0 1
0 1 0

Physics Section B

A B L'}
0 0 1
0 1 0
1 0 1
1 1 0
70819162839.
A B Y
0 0 0
0 1 1
1 0 0
1 1 1
70819162840.
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Sub-Section Id : 7081911101

Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819119224 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two particles having masses 4 g and 16 g respectively are moving with equal kinetic energies.
The ratio of the magnitudes of their linear momentum is n : 2. The value of n will
be

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819119224 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

TN 4gm DR 16 gm TS0, BROODT HTD FeNW FD BOITENERODN
BORETT, VYN Tedeod AO[NT TOBREONY CPTIY n : 2600 nJUTow
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819119225 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The initial velocity v, required to project a body vertically upward from the surface of the
earth to reach a height of 10R, where R is the radius of the earth, may be described in terms

: x ;
of escape velocity v, such that o; = I= X v,. The value of x will be

g
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819119225 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

P00D Hed 0000 10R 2308 TTL) L.0T RODIW, VOWTN D DE TFeLILD

TYTOYPT Hen v; WeFnOZh. VY R - PRPOD SxEINT.  TOR, DB I
- ) - b =

[
v, TG v, = X x 7, S0D DJOAT xS dSa __ ©AB.
. . A

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819119226 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The percentage increase in the speed of transverse waves produced in a stretched string if
the tension is increased by 4%, will be %.

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819119226 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

QYORVE F030D ATIB, 4% TYILD JBOOT YLOERMIR €B ITONNY &TBW, IeFTEIW

-

o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819119227 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

IfP xQ=0Qx P, theangle between P anda is 0 (0" < 6 < 360%). The value of "6 will be

L

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 24 Question Id : 70819119227 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

PxQ=QXxP «38 p BN {_) SRS deessy 0(0°<0<3609) 38 0 3 BSom

Q

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819119228 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A reversible heat engine converts one-fourth of the heat input into work. When the
temperature of the sink is reduced by 52 K, its efficiency is doubled. The temperature in
Kelvin of the source will be

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819119228 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

2,000 W3R ¢OF [ouT SNDIT LodRe To ; ) JDTA, IO m'rﬁ TWOREF A
502) &t 080 STDRIIDW, 52K 11 sBINRPATT 900 TS Qe v@;,m P00, -:-Q;s‘a'g

T RO IDTTOR)



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819119229 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two small spheres each of mass 10 mg are suspended from a point by threads (.5 m long,
They are equally charged and repel each other to a distance of 0.20 m. The charge on each of

the sphere is % WO e walue k' will be o
[Given g =10 ms 2]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819119229 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

05 m «E0 mRUNeed @ 10 mg Te0R O® A MRIONIVEY, WOl WOWIOT
NeERTHIRNT. @@ﬁ@éz&:‘l AN SRINRFAT DR ©¥F 020 m d:-;d; Gafofte

C&E&.Fﬁiﬁﬁ 300, g&meom: need @eda =eln) E x 10 3(_ HSR0 am WO

[BRUT : g=10ms 2]

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819119230 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two identical conducting spheres with negligible volume have 2.1 nC and - 0.1 nC charges,
respectively. They are brought into contact and then separated by a distance of 0.5 m. The
electrostatic force acting between the spheres is

[Given : 4me = ;09 SI unit]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 27 Question Id : 70819119230 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

TONESHCINT MIRY 0B DFoedod TFID feconsd g 21nC A ~0.1nC

Recony Smd SrHT mnamF wey . x 10 N.

1
9 % 100 [ Q3aRI0Y]

[BRUT : dme=
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 28 Question Id : 70819119231 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
The peak electric field produced by the radiation coming from the 8 W bulb at a distance of

. X Impe V . : : : e " ;
10 m is 0 VI_ —. The efficiency of the bulb is 10% and it is a point source. The value of
T m

xXis_
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819119231 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

10 m BRUZY8 8W WOA0D W JITLAYOT LOSREDS Jon JWITEIN

= \Jl"““?“% ShG. wo L0m Kot u8Y DB Es T8 10% ¢S 1 3 B
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 29 Question Id : 70819119232 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A current of 6 A enters one corner P of an equilateral triangle PQR having 3 wires of resistance
2 () each and leaves by the corner R. The currents i, in ampere is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819119232 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



T 2 () CRgATE 3 J0dNTomed Lo AERE $had Hwd P obg wom 6 A
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819119233 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The wavelc-ngth of an X-ra}-' beam is 10 A. The mass of a fictitious particle having the same

3 , X :
energy as that of the X-ra}-' photons is ;h kg. The value of x is

(h=Planck’s constant)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 30 Question Id : 70819119233 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

oD, BROOTH

-
£ @

X - $0reni¢ R=eET 30omeo3d 10A. X- 800 fneins E-L*:c-ﬁd::m;f 1)
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Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Chemistry Section A
Section Id : 708191822
Section Number : 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911102
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819119234 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Which among the following species has unequal bond lengths ?

Options:

4

Xe 4
70819162851.

SiF,
70819162852.

70819162853. i

BF,
70819162854,

Question Number : 31 Question Id : 70819119234 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FENTRYNYY oY TT WOP YLTNL LADTNS ?
Options :

KC‘F__1
70819162851.

SiF,
70819162852.

70819162853. 2

BF,
70819162854,

Question Number : 32 Question Id : 70819119235 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The solubility of Ca(OH), in water is :
[Given : The solubility product of Ca(OH), in water=>5.5x10 0]

Options :

I3

70819162855, 1-11 %10

20819162856, 1-11 %10 ¢

I3

70819162857, 1-77 %10

70819162858, 1.77 %10

Question Number : 32 Question Id : 70819119235 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2e0mg Ca(OH), 3 Ldezdodn :
(T2 : 2e0FQ Ca(OH), & Ddedzw Moo =5.5x10 6)

Options:

I3

70819162855, 1-11x10

70819162856, 1-11 %10

I3

70819162857, 177 * 10

70819162858, 1.77 %10

Question Number : 33 Question Id : 70819119236 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following statements is FALSE for hydrophilic sols ?



Options :
708191628509. They do not require electrolytes for stability.

70819162860. These sols are reversible in nature.
70819162861. Their viscosity is of the order of that of H50.

70819162862. The sols cannot be easily coagulated.

Question Number : 33 Question Id : 70819119236 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
ROA Lk TONY DOTN FENT 0IRT He¥TOW IIJNT 7
Options :

ePYNY 3TIMN Q0N SN THYOY.
70819162859. St ) DROY

70819162860. TSN T[3DSFod mﬁ:ﬁ:&:% Fnob3.

“‘-.‘-."-’\ + - -""_‘-H__‘;. .-
70819162861, = oN% AJS000 EOBR0LN FHTNG.

70819162862, B B L s

Question Number : 34 Question Id : 70819119237 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The correct order of bond dissociation enthalpy of halogens is :
Options :

70819162863, 12~ Ch> Bro> I



70819162864, 127 Br2” (> I

70819162865, 12~ Bra> > I

CL>F.>Br.>1
70819162866, — 2 2~ 1272

Question Number : 34 Question Id : 70819119237 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TR WOPRSREET ORINY JOOIRE T :

S

Options :

70819162863, 127 Ch> Bro> 1

70819162864, 127 Br2” (> I

70819162865, 12~ Bra> > I

CL>F.>Br.>1
70819162866, — 2 2~ 1272

Question Number : 35 Question Id : 70819119238 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The method used for the purification of Indium is :
Options :
70819162867, vVan Arkel method

70819162868, duation



70819162869, Zone refining

70819162870, ©apour phase refining

Question Number : 35 Question Id : 70819119238 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

nc-@mwm% &%ﬁﬁﬂ?" WRWTIN UEYRBW PN
Options :

70819162867, o STFEF LR

70819162868, =E0M R

sToodh Doxos

70819162869.
T} 0RO
70819162870,  -*  °

Question Number : 36 Question Id : 70819119239 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Water does not produce CO on reacting with :

Options :

70819162871. Hy

70819162872. ©

Co,
70819162873, 2



C,H,
70819162874.

Question Number : 36 Question Id : 70819119239 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FT0R0ON Qe @3Fa COwm, DIHBNTE SRBPOY :
e ¥

Options :

70819162871. iy

70819162872. €

o,
70819162873. =

-

C,H,
70819162874,

Question Number : 37 Question Id : 70819119240 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :
Statement 1 :

a and 5 forms of sulphur can change reversibly between themselves with slow heating or
slow cooling.

Statement 11 :

At room temperature the stable crystalline form of sulphur is monoclinic sulphur.

In the light of the above statements, choose the correct answer from the options given below :
Options :
70819162875, Both Statement I and Statement 1l are true.

70819162876. Both Statement | and Statement 1l are false.



70819162877 Statement 1 is true but Statement 11 is false.

70819162878. Statement 1 is false but Statement Il is true.

Question Number : 37 Question Id : 70819119240 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

N Q0B TeTINT, TSN,

deedl: « —x@u'*“ ma. B —Nw‘ SRENY IR A TO0R LTme A oD LENoT
amﬁgw me:rﬁ LTTRMER).

TPl SREEOD TIRITY, IRILIVT O LOW AT TOL URTT AOT ST,

PR Bevdnvd, naddn, F9NT sonvY = %00iRG &ﬁ.aEn’u?d'.L =020,

Options :

70819162875, =¢¥% 1 ﬁaf;ﬂ’f% 11 %O 38
70819162876, =t¥% 1 DR Teed Il TBR NI
70819162877 Fewd 1 WOIRNT sudIewd 11 ITNT
70819162878, *t¥¥ 1 3TNT T Tewd 11 0 20,

Question Number : 38 Question Id : 70819119241 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The major components of German Silver are :

Options:

70819162879, 4 Zn and Ag



70819162880. Cu, Zn and Ni

70819162881, =% Cuand Ag

70819162882, 2 Niand Ag

Question Number : 38 Question Id : 70819119241 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

BEF T AQT'T TN FUINW ¢

Options :
70819162879, T AN Ag

Cu, Zn =3y Ni
70819162880. o

70819162881, C% CUTE Ag

70819162882, £n, Nizda Ag

Question Number : 39 Question Id : 70819119242 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which of the foﬂowing order the given complex ions are arrangod correctl}-' with respect
to their decreasing spin only magnetic moment ?

(i) [FeFgP™ (i) [CoNHz)P* () [NiCl*" (iv) [Cu(NHy),J**
Options :
70819162883, (i) > (iif) > (iv) > (i)



70819162884, (1) > (iii) > () > (iv)

70819162885, (Hi) > (iv) > (if) > (1

70819162886, (1) > (1) > (iii) > (iv)

Question Number : 39 Question Id : 70819119242 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
YN QRWLD CIRPYTTY, Fodersr LCTIMMYR, VMY TOPR SRS, ROINTIT 98
ST00Y TO0IRN HRRAT,
(i) [FeF P~ (i) [Co(NH,)P* (i) [NiCL]~ (iv) [Cu(NH,),J**

Options :

70819162883, (i) > (iii) > (iv) > (i)

70819162884, (1) > (i) > (i) > (iv)

70819162885, (L) > (iv) > (if) > (1)

70819162886, 1) > (1) > (iii) > (iv)

Question Number : 40 Question Id : 70819119243 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I

The pH of rain water is normally ~5.6.

Statement 11 :

[f the pH of rain water drops below 5.6, it is called acid rain.

[n the light of the above statements, choose the correct answer from the options given
below :



Options :
70819162887. Both Statement I and Statement 1l are true.

70819162888. Both Statement | and Statement 1l are false.

70819162889. Statement 1 is true but Statement 11 is false.

70819162890. Statement 1 is false but Statement 11 is true.

Question Number : 40 Question Id : 70819119243 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

9N QR TP, DEBRNG.

Tewdl: WY 20D pHATTN ~5.6 ATT.

@eedll: wom Fev W¥ Ae0F pH5.6308 39N B9T0 LTW, CHWY 20T FTOROTR.
SoedT TevENYR, MDA, 971 QWD SaNTY 0o YuIT[, SORO.

Options :

70819162887, *t¥E1 & TR 1l 23 7O 2.

70819162889. . g e

Cl,
£l
L]
£
s
ja—
-
bl |
e
a3
£l

70819162890, *¢¥% 1 STWNT =T

Question Number : 41 Question Id : 70819119244 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following compound is added to the sodium extract before addition of silver
nitrate for testing of halogens ?

Options :
70819162891. Hydrochloric acid

70819162892, Scdium hydroxide

70819162893, [Nitric acid

70819162894. Ammonia

Question Number : 41 Question Id : 70819119244 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TR v, S0, ApeBobT MOF (90T JWAN) QT e A0
S0028 CIR ROOLOTIT, AOWIW ?

Options :

70819162891.

70819162892, SR

70819162893, “&= =

B T ey
70819162894, = ete)C8®

Question Number : 42 Question Id : 70819119245 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The major pmduct of the fnﬂnwi_ng reaction is :
NO,

@/I\/

=
H,50,

Options :

NO,
70819162895, @></
: L _NoO,

70819162896

NO,

70819162897. @/\)\

70819162898

Question Number : 42 Question Id : 70819119245 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
TENT §ORCNY LLOLTRMIE T U330

NO,

)\"y’
¢
: : I125C4

Options :

70819162895.



NO,

NO,
70819162896.
NO,
70819162897.
NO,
70819162898,

Question Number : 43 Question Id : 70819119246 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The major product of the following reaction is :

H,/CO
Rh catalyst

Options :

70819162899. : 2

70819162900.

20819162901, CHaCHCH=—CH—CHO

70819162902.



CHaCHsC—CHs

CHO

Question Number : 43 Question Id : 70819119246 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
F¥NT 30D0RNY YLOoRME Tl YuIS0dw
Hy/CO
Rh 303RIGFFE

CH;CH,CH=— CH,

Options :

70819162899. : E

70819162900.

20819162901, CHaCHCH=—CH—CHO

CH,CH,C==CH,

70819162902. CHO

Question Number : 44 Question Id : 70819119247 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct sequence of reagents used in the preparation of 4-bromo-2-nitroethyl benzene
from benzene is :

Options :

20819162003, CH3COCI/AICL, Bry/ AlBrs, HNO,/H SO, Zn/HCl

70819162904, CH,COCl/ AlCl,, Zn-Hg /HCI, Br,/AlBr,, HNO,/H,S0,



20819162905, Bra/ AlBry, CH,COCI/ AICL, HNO,/H,S0,, Zn/HCl

70819162906. HNO,/H,S50,, Br,/AlCl,, CH,COC/ AlCl,, Zn-Hg/HC1

Question Number : 44 Question Id : 70819119247 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1520002 ERRE T HoNT R, WORTNOD I0IROMN AT TOINY KOOIRT
T
Options:

70819162903. CH,COCI/ AlCl,, Bry/ AlBry, HNO5/H»S50, Zn/HCI

20819162904. CH,COCl/ AlCl,, Zn-Hg/HCI, Br,/AlBr,, HNO,/H,50,

70819162905, Br2/AlBrs, CH,COCI/AICL, HNO,/H SO, Zn/HCI

70819162906. HNO,/H,50,, Br,/AlCl,, CH,COCl/AIClL,, Zn-Hg/HCI

Question Number : 45 Question Id : 70819119248 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct order of acid character of the [ nIInwing cnmpnumfls ig :

OH COOH COOH COOH
NO, CH,



Options :

70819162907, [ > 1I>HI>1V

70819162908, I =M >1>1V

70819162909, 1> I =1V >1

70819162910, 1V > M > 11 >1

Question Number : 45 Question Id : 70819119248 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TN FOOTNY SeReoD AFRNT FIOTRT T ¢

T H COOH COOH —
NO, CHy
: I il Iv
Options :

70819162907, 1> 1> I>1V

70819162908, I > 1 >1>1V

70819162909, T >TI>1V >1

70819162910, 1V > M > 11 >1

Question Number : 46 Question Id : 70819119249 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What is “X’ in the given reaction ?

CH,OH o
+ oxalic acid L X

CH,OH (major product)

Options:
CHO

70819162911, HO

CH,OH

70819162912. e

T_|“'f 1,

70819162913. CHh

ﬁH—DH

CH
70819162914.

Question Number : 46 Question Id : 70819119249 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

¥ sRLICHE dohohd XOHh 9

CH,OH .
| +oRdFT @ 210 - X
CH,OH (TR0 o)
Options :
CHO
CHO

70819162911.



CH,OH

70819162912. e

70819162913.

ﬁH—DH

CH
70819162914.

Question Number : 47 Question Id : 70819119250 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

NH, NH, NH, NH,
HNO;, H,50, NE2
: o + T
288 K R
et
NO,
(A) (B) (©)

Correct statement about the given chemical reaction is :
Options :

20819162915, —NH,; group is ortho and para directive, so product (B) is not possible.

70819162916, Reaction is possible and compound (B) will be the major product.

70819162917 The reaction will form sulphonated pmduct instead of nitration.

Reaction is possible and compound (A) will be major product.
70819162918.



Question Number : 47 Question Id : 70819119250 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

NH, NH, NH, NH,
HNO,, H,50, . X NO,
288K
NO,
NO,
(A) (B) (©)

Options :

20819162915. —:\ng oI gFles w3 @Emﬁﬁﬁmﬁd& %0 wu3d ‘B’ od mqﬂémm@&g.
70819162916, JPVOI TGO ) BIOOMOT:Y T $0330d5eNg.
20819162917, 2OPORY FERHEE VI SooARm &N WEIoIRN.
20819162918, 20RO TIGTRMDHT B A OO WD Y Z0TBNG.

Question Number : 48 Question Id : 70819119251 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Carbylamine test is used to detect the presence of primary amino group in an organic
compound. Which of the following compound is formed when this test is performed with
aniline ?

Options:

NHCH;,
70819162919. :



CN

70819162920. :
: . NC
70819162921.

CONH,
70819162922, :

Question Number : 48 Question Id : 70819119251 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

UFS* f.-mda*‘ maeﬁod:a:& apev i televil/ e iberiatav. f.»::.fi‘ ho&s maq.,m:&
TITRBN TARANBIWL.  LAITER0OA :it'afi SEAmn B9NT ol AOOINEY
FoiRTIME®® ?

Options :

NHCH;
70819162919. @/

CN
70819162920. @/

NC
70819162921.

: _CONH,

70819162922.



Question Number : 49 Question Id : 70819119252 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the fnllowing is correct structure of w-anomer of maltose 7

Options :
CH,OH CH,OH
H o H H 0. H
< :
H H H H
HO OH
70819162923, HO OH HO OH
H
<
HO
70819162924.
CH,OH CH,OH
H 4——0. H H +—0 H
H
OH H )_|<JH H
HO OH
70819162925, H OH H  OH
CH,OH CH,OH
B ——0 H H +—0 OH
H H
H H H
HO H
OH OH HO  OH
70819162926.

Question Number : 49 Question Id : 70819119252 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



$NTINIY IR BRELEFS a-SIReRT'T FOCTE TIPS 9

Options :
CH,OH CH,OH
H Oo_ H H O. H
< i
H H H H
HO OH
70819162923. HO OH HO OH
CH,OH CH,OH
H +—0O. H H 0. OH
H I
}<U“ H OH H
HO H
70819162924, H OH H OH
CH,OH CH,OH
H ,——q H H 0 H
H H
<3H H OH H
HO OH
70819162925, H OH H OH
CH,OH CH,OH
H +—o0o_H H I— 0 OH
H H
H H H H
HO H
OH OH HO OH
70819162926.

Question Number : 50 Question Id : 70819119253 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :

The identification of Ni* is carried out by dimethyl glyoxime in the presence of NH,OH.
Statement 11 :

The dimethyl glyoxime is a bidentate neutral ligand.

In the light of the above statements, choose the correct answer from the options given below :



Options :
70819162927, Both Statement I and Statement 1l are true.

70819162928 Both Statement I and Statement 1l are false.

708191629209. Statement | is true but Statement 11 is false.

70819162930. Statement 1 is false but Statement 1l is true.

Question Number : 50 Question Id : 70819119253 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FGM QTE TETINTR, QEBRAT.

Zeedl: NHOHS mAgsQ dange f ed @rdos Nitt &, somblBainmob.

Beed Il: FFY [ o8 0 wom QEodeond 3Ly Im,0w SN,

edT Tewdndd, Madda, 9NT SoRNYY FONRT YOITID, HORD.

-

Options :

70819162927, <~ 2

70819162928. ° - e

70819162929,

70819162930. Zeed ]l BAT <o Seed 1l 50 a.

Chemistry Section B

SectionId : 708191823



Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10

Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911103
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819119254 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Consider titration of NaOH solution versus 1.25 M oxalic acid solution. At the end point
following burette readings were obtained.

(i) 45mL (i) 45 mL (i) 44 mL

(iv) 44 mL (v) 44 mL

If the volume of oxalic acid taken was 10.0 mL then the molarity of the NaOH solution is
M. (Rounded-off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 51 Question Id : 70819119254 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



NaOHmgees Qg 1.25Memds omn mumnma 530 andmi ©0dm Nomasy
39308 W 0ROV, BTN,

(i) 45 e (i) 45 a9 (iil) 4.4 0O
(iv) 44 e (v) 4409

10.0 00t MW SROF WD, INWERYRNZOTT NaOH mmend Seoodtion
M. (R8T MIdTTE YoINTm, vimoleenA)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819119255 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The unit cell of copper corresponds to a face centered cube of edge length 3.5% A with one
copper atom at each lattice point. The calculated density of copper in kg/m? is

[Molar mass of Cu : 63.54 g ; Avogadro Number=6.022 x 10%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819119255 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



?m' PUT dReImy =D odE '-:;'Eiﬁ; wriemeh wous wdy 35% E,enm
08 YOMITY 20D TIT TOBRVIT.  TLTIRT WIWB moaacu
(kg mﬁ 59).
[33 : ST [eecoT TodOIN : 63.54 MEINY; wRndees 108 =6.022x 107
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819119256 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Electromagnetic radiation of wavelength 663 nm is just sufficient to ionise the atom of metal
A. The ionization energy of metal A in k] mol~!is _ . (Rounded-off to the nearest
integer)

[h=6.63x10"*Ts, ¢=3.00x10° ms !, N, =6.02x 10% mol "}

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819119256 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

663 nm TOMROSTR AT FY0S0D DFTENT A GRETT TUBRENTW, YOIRACTTENHTAHLD
PRHID. Adreas ©omesse Fgom (k] mol ! 89) (ReeTT Hormer o7)
[@3 : h=663x10"34]s, c=3.00%108 ms~1, N, =6.02x10% mol "]

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819119257 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Five moles of an ideal gas at 293 K is expanded isothermally from an initial pressure of
2.1 MPa to 1.3 MPa against at constant external pressure 4.3 MPa. The heat transferred in
this processis k] mol L (Rounded-off to the nearest integer)

[Use R=8314 ] mol " 'K 1]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 54 Question Id : 70819119257 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
293 K39 5 See suIF w0y TOoRT %3 2.1 MPa {od 1.3 MPari 4.3 MPa o A o)
MEHLIET LT ADAGTR TIATRAL0RT. B TIoWONY TRFIFIRT RAF
K mol 139 . (Raoedd @emorodd)
[cvodeens : R=8.314 ] mol 1K™
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819119258 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If a compound AB dissociates to the extent of 75% in an aqueous solution, the molality of the
solution which shows a 2.5 K rise in the boiling point of the solution is ___ ~ molal.
(Rounded-off to the nearest integer)

K, =0.52 K k¢ mol !
b &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 55 Question Id : 70819119258 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ABoow mocknEsy) wOeod mRRHT Je8E 75 U J0dResH0NRT, TRRet 20000

RoTHAFY 25K 208 deethal oz sSecediion SRCREF, (ReDETT TRFmF 0F)
i3 . . 1

[@2 : K,=052K kg mol ']

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 56 Question Id : 70819119259 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

Copper reduces NO, into NO and NO, depending upon the concentration of

HNO, in solution. (Assuming fixed [Cu®*] and Py, = szj, the HNO, concentration at

which the thermodynamic tendency for reduction of NO, into NO and NO, by copper is

same is 10" M. The value of 2v is . (Rounded-off to the nearest integer)
4 ’ 0 % 7 l(ﬂ o £ : ‘D it e
|Given, E(:le+ Ca 0.34 V, END;,IND 0.96 V, E?\ID; /NO, 0.79 V and at 298 K,

¥ (2.303) =0.059]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819119259 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

TRReEgod HNO,ob modn emmeemn @ NO, ™ @ NO@® NO, 8h ¢Ttar DI,
[[Cu?*] @& Pyp =Py, 0203 FROZ]NO, ™ & NOZE NO, 8N R0on wmgasr a
WFWL IR TF,om wote wriey HNO; mododn 10°M $hd. Tmot a8 SPo

)|

. (AENeTT DRMmFOTE
¥

o *.u e l‘:D - 2 .‘D —0N7 = 'y :
[@3, : Ecu“/cu 034 V, ENO;,INO 0.96 V, ENO;[.\Joj 0.79 V&332 298 K59

R_: (2.303) =0.059 53]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 57 Question Id : 70819119260 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The rate constant of a reaction increases by five times on increase in temperature from 27°C
to 52°C. The value of activation energy in k] mol B L (Rounded-off to the nearest
integer)

[R=8.314] K~1 mol -]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 57 Question Id : 70819119260 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3ol TIIW, 27°C 0T 52°C BN FPapmen odod Fen WODT]OTH) VTIW, (VDD
TE) Bewrvam. vdeest Jsod 5P (kJ mol ‘FJ-::J__]_ . (ReeTd MEFC-EE;)

[32 : R=8314]K " mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 58 Question Id : 70819119261 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Among the following, number of metal/s which can be used as electrodes in the photoelectric
cellis . (Integer answer)

(A) Li (B) Na (C) Rb (D) Cs
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819119261 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

FYNIHNYY a.uﬁﬁm,sf BRINYY @-ﬂ'i%_m‘nfémﬁﬁ SUTOIRNT CReTT(NY) rqosjér:d:
. (HemeFosd wu30)

(A) Li (B) NJa (C) Rb (D) Cs

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819119262 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The spin only magnetic moment of a divalent ion in aqueous solution (atomic number 29) is
___BM.

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 59 Question Id : 70819119262 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
w00 mIRTYIDR QT YolRAT (VTIWER Ao, 29) TOFRR =R Fodeon
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819119263 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of compound/s given below which contain/s —COOH group is
(Integer answer)

(A) Sulphanilic acid (B) Picric acid
(C) Aspirin (D) Ascorbic acid

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 60 Question Id : 70819119263 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

gon dputiEmneg —COOH momniea,
(SemFoE wu30)

=
(A) ROAdF s (B) &3F o (o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Mathematics Section A

SectionId:

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 61 Question Id : 70819119264 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

708191824
5

Online
Mandatory
20

20

80

Yes

1
7081911104

Yes



1 o .
If for the matrix, A = { ﬁﬂ , AAT=1L,, then the value of o? +p4is :
T

Options :

70819162941, 4

70819162942, !

2
70819162943. ~

70819162944, 3

Question Number : 61 Question Id : 70819119264 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 o ¢ & o T F g g ., ¥ - L
A= g | 3 3o AAT=L, 08 ot + p* 3 Bdode :
i 1 L

Options:

70819162941, 4

70819162942,

2
70819162943. ~

70819162944, >

Question Number : 62 Question Id : 70819119265 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Let A be a 3 x3 matrix with det(A)=4. Let R, denote the it row of A. 1f a matrix B is
obtained by performing the operation R, — 2R, + 5R; on 2A, then det(B) is equal to :

Options :

70819162945, 1©

70819162946, 5

70819162947, ©%

o
70819162948. e

Question Number : 62 Question Id : 70819119265 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3Ix3 DRI FOIN A IROON det(A)=48NTD. R, ZRUBRIZT A oR ith Sl=LpoV
R, — 2R, +5R; 30000, 2A :bed SnAN B g sotn «wotnts, det(B) oin 2w
D

Options :

70819162945, 1©

70819162946, 5

70819162947, ©%

o
70819162948. e

Question Number : 63 Question Id : 70819119266 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The following system of linear equations

2x + 3y +2z=9

3x+2y+2z=9

x—y+4z=38
Options :

70819162949 does not have any solution

70819162950. has a unique solution

70819162951 has infinitely many solutions

70819162952, has a solution («, 5, v) satisfying « 1 BZ++3=12

Question Number : 63 Question Id : 70819119266 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=t i 5:3;9:3031% XROY0caTD Mnesoeanen :

2x+3y+2z=9
3x+2y+2z=9
x—y+4z=38
Options :
Ton)tit BOTOR) ALPYOD
70819162949, OXIRBE VOTTY) FWIJ0Y

283 TODOTRT.

70819162950.

G

70819162051, LTOWLIToN TO TOTONLE.

at B +y3=1232BBATT (a, B,v) 1t HOZORT.
70819162952. b

Question Number : 64 Question Id : 70819119267 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T
2
If I, = _[cnt"x dx, then :
o
4
Options :
i : :

i bl il Tkl are in A.P.
70819162953, 2 4 3 115 4T 6
70819162954, L,+1, I, +1, I,+]1 are in A.P.

1 - : in G.P
r ' are 1n 5
20819162955, 12 1o Is t1s Iy 4 s

I,+1,, (I.+1:)% I,+1, are in G.P.

70819162956, - * (I3 +15)% Iy +1g

Question Number : 64 Question Id : 70819119267 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

cot"x dx =30 :

e
=
I
S

Options :
1 1 1
"Iy +15 I+ g

o 9% AP. oD
70819162953, 2 4

I,+1, L+, I, + 1. as) AP.odhds.
70819162954, 2 w3t s latle SR J)

1 1 1
I, +I; Is +15° I4 +1g

%% G.P.oR9s
70819162955,



70819162956, 21 1o (3 +15)% Iyt =) G.P. g,

Question Number : 65 Question Id : 70819119268 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X

A function f(x) is given by f(x) = , then the sum of the series

5* +5
(391
FEV R E by S AT =
) 20 / 20 ) 20 )
is equal to :
Options :
29
9
70819162957.
49
2
70819162958.
39
>
70819162959,
19
?
70819162960. ~

Question Number : 65 Question Id : 70819119268 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4Wrong Marks : 1

5%
5* +5
& Feedod HR3H CiRPYTE, A ?

(39)
£iEn

f(x) ot @I f(x) = 20)

sd f 1_| l 20 l 0,

Options :



70819162957.

70819162958.

e
[x.]|\5

70819162959.

S
td|\5

70819162960.

Question Number : 66 Question Id : 70819119269 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T : : - a1 — 2ag
Let aand f be therootsof x=— 6x—2=0. Ifa =™~ p" forn = 1, then the value of ———
Jdg
1S
Options:

70819162961.

70819162962.

-2

70819162963.

70819162964.

Question Number : 66 Question Id : 70819119269 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

o
R-6r-2=0, a % BASH BAORNTO. a,=at-p1 i n > 1, s L8 5
= ..'Elt}
B0
Options :
70819162961,
70819162962, °
2
70819162963.
70819162964,

Question Number : 67 Question Id : 70819119270 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

aX

L e ) -
The minimum value of f(x)=a" al & wherea, xc Randa>0,is equal to :

Options:

70819162965, ' 1

70819162966.

70819162967.

2
70819162968.

Question Number : 67 Question Id : 70819119270 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

f{sza“x ral = @ a,xec Rabad a> 0930 88 ddodn ood =
J = g’ "G e

Options :
at+1l
70819162965.
1
70819162966.
2\/a
70819162967.

2
70819162968.

Question Number : 68 Question Id : 70819119271 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Cj]ugfl't | 502](:‘&11

The integral _[ dx, x >0, is equal to :

Dd]t:g?:l.' | 503](.‘:5?1 ?Dzlugg
(where c is a constant of integration)

Options :

log. |22 +5x 7] +c¢
70819162969. =

J 4 R
70819162970, 1108el ¥ +5x 7|+ c

=

l]. - 5x
1 Og.| X Fax—/|+C
70819162971.

=

log, Vi +5x -7 +c
70819162972.



Question Number : 68 Question Id : 70819119271 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3log . 2x Jdog, 2x
Q-”“Eu. ¥a 50._](1;_“_ by

po =2 ey . > 0 Tne N ©DIOE A00F) QoS
B8 WRESR 0‘1‘]"'{’.# | 5(3:”0&1_ ?eﬂlngf_l dx,x >0 Tone (c O BRIOI A0 0%F) Cﬁi-:;
A
Options :

=

log, | x2+5x 7| +¢
708191629609.

¥ 2 P
70819162970, 1108l ¥ +5x 7|+ ¢

(=

1
110&, x2+5x—7|+c
70819162971.

=

loge Vx* + 5x +C

70819162972.

Question Number : 69 Question Id : 70819119272 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If a, p = R are such that 1 2i (here = ~1) is a root of z2+az +$ =0, then (a ) is equal
to:

Options :

70819162973,

70819162974.

-
£

70819162975.

70819162976.



|

Question Number : 69 Question Id : 70819119272 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

o pe RINGY 1-2i(RQ =~ 1) 0D 2 +cz +4=0. FTT LY, 87 (o~ B) TRJTE,
A 9

Options :
70819162973,
3
70819162974.
70819162975, *
5
70819162976.

Question Number : 70 Question Id : 70819119273 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the curve 1 2y3=2 intersects the line x +y=1 at two points P and Q, then the angle
subtended by the line segment PQ at the origin is :

Options :

70819162977.

70819162978.



70819162979.

ER

70819162980.

Question Number : 70 Question Id : 70819119273 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Paad Quomhnvg agdesd 1% +2y7=20e23 x +y=1, eIV, &R Sesdod 2003 PQ
I, MRONOMATY LLORMT BRET)

Options :
T _ 1{ 1)
— + tan —
2 \ —1_}
70819162977.
T (1)
i m_n ]' s,
2 \ '—]:/'
70819162978.
- AT,
— + tan 1| L |
2 \ ?l‘/'
70819162979.
2 37
70819162980.

Question Number : 71 Question Id : 70819119274 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The shortest distance between the line x y=1 and the curve x2= Zy is :

Options :



L
51 -

70819162981.

%]
2
(]

70819162982.

70819162983.

b | =

70819162984.

Question Number : 71 Question Id : 70819119274 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Ted x—y=13020 Jyoesd x2=2yn¥ I 33:3'5 ©03T5y) :

Options :

g
N
70819162981.

%]
£
ra]

70819162982.

70819162983.

b=

70819162984.

Question Number : 72 Question Id : 70819119275 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

o
: o X :
A hyperbola passes through the foci of the ellipse — A y— =1 and its transverse and
’ 16
conjugate axes coincide with major and minor axes of the ellipse, respectively. If the product
of their eccentricities is one, then the equation of the hyperbola is :

Options :
g y)
X 1:"_ N
70819162985, © 16
o 2
5
70819162986.
'Iz 7
i
70819162987.
x2— =9
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A plane passes through the points A(1, 2, 3), B(2, 3, 1) and C(2, 4, 2). If O is the origin and

—
Pis (2, —1, 1), then the projection of OP on this plane is of length :

Options :
B
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V3
70819162989.
RE
1
70819162990.
7
7
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: 1 n n
lim | — 4 | |

noeln (n+1)2  (n+2)>2
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k3| =

70819162994,

U3 | -
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5 | is equal to :
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[n a group of 400 people, 160 are smokers and non-vegetarian; 100 are smokers and vegetarian
and the remaining 140 are non-smokers and vegetarian. Their chances of getting a particular
chest disorder are 35%, 20% and 10% respectively. A person is chosen from the group at
random and is found to be suffering from the chest disorder. The probability that the selected
person is a smoker and non-vegeltarian is :

Options :

.
!

70819162997. 2

3

70819162998. =
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14
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Let A be a set of all 4-digit natural numbers whose exactly one digitis 7. Then the probability
that a randomly chosen element of A leaves remainder 2 when divided by 5 is :

Options :

LFlln-—i'
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gz
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70819163004.

Question Number : 76 Question Id : 70819119279 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Aoh 20y 4- BOINT TYYRUT F0LMH Lo MeesN0d, ¥TT ADTTT 2Om €0t 7
ShT. TS0 r:::mmﬁ::ﬁ ew:‘m@m L0Th ©035) AOJ.'.L 5000 HmhATen W

Jexisy) 26T0 mmwmawm ?

Options :
1
5
70819163001.
2
9
70819163002.
297

70819163003.



122

297

70819163004. ~

Question Number : 77 Question Id : 70819119280 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3
If0<x y<wand cosx + cosy — cos(x + y) = ';, then sinx + cosy is equal to :
Options :
2
2
70819163005.
B
z
70819163006.
1-43
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.'l | \-"IE
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s 3 ; g Sk
0 <x,y <m0 cosx + cosy — cos(x + y) = = RN sinx + cosy YT, A
Options :
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Let x denote the total number of one-one functions from a set A with 3 elements to a set B
with 5 elements and y denote the total number of one-one functions from the set A to the
set A xB. Then:

Options :

708191630009.

Yy = D7
70819163010, 2¥ =273x

yzglx
70819163011,

y=273x
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: A

mwr{iml_l (5) 4 m.-_1| — |—‘ is equal to :
\9/_

Options :
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The contrapositive of the statement “If you will work, you will earn money” is :

Options:

70819163017, 10 earn money, you need to work

20819163018, You will earn money, if you will not work

20819163019. If you will not earn money, you will not work

If vou will earn money, vou will work
70819163020. - izt
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A function f is defined on [ -3, 3] as

i

.
N Jminl xh2—=x"]

l=x=s2
I v 2z ]x| =5

f(x)

where [x] denotes the greatest integer = x. The number of points, where fis not differentiable
mi-2NE. .
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[f the curve, y=y(x) represented by the solution of the differential equation
(2xy? ~ y)dx +xdy=0, passes through the intersection of the lines, 2x ~3y=1 and
3x +2y=38, then |y(1)| is equal to ____
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The total number of two digit numbers ‘n’, such that 3" + 7" is a multiple of 10,is
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If lim —— — exists and is equal to b, then the value of a—2b is
-0 ax(e™ 1)
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If the curves x=1y* and xy=k cut at right angles, then (4k)° is equal to
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The value of _[ 3x% — 3x — 6|dx |- S
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If the remainder when x is divided by 4 is 3, then the remainder when (2020 + x)**% is

divided by 8is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 87 Question Id : 70819119290 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
7w, 4000 gehamen LIS Jedsy 3, 8T (2020+2)P2 o, 8003 Fohawen WD
Femm)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 88 Question Id : 70819119291 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Aline 'l passing Lhroug,h origin is perpendicu lar to the lines
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—3 1)

it =B40i +(-14+20] + &+ 20k
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—(+2)i +(3+29)] + 2 +s)k

e
ly: 1

If the co-ordinates of the point in the first octant on ‘I," at a distance of /17 from the point
of intersection of ‘I" and I;" are (a, b, ¢), then 18(a+b+c) isequal to _____
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A line is a common tangent to the circle (x —3)?+1>=9 and the parabola y?=4x. If the two
points of contact (a, b) and (c, d) are distinct and lie in the first quadrant, then 2(a +¢) is
equalto
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